sjysns
jweneqjall
91.0Z'11'8Z ‘Uoessqig
QeIsebny
't |ee Z6'0  |00'ZL |96'2Z |99 (LL'9 |08 [66'¢Z |vie |0s‘@E€ |vOS |60EL : Jweseb
00'00L (6L 61 a5jRAS JousjoH /ayeAS JesneyspadneT 0821 YSd
uasso|yosabue JauyoaisiyedIo Usp Ue 910z'0L L0 Wnz apinm sbejuy aia| 8e
z =k2 YBMIPEIS
00'00L |2} zL 0L =2,5| PUewysIA SjIyyeIa| LE
(suosagne)
9 =€ ZESIM NMN
00'001 |95 a5 8 =Z.k|ZF  =E.bL| ASIyOBIGaIT-sNLeaNH | g€
(sHosegne) 266 Y
00'00L |2 ¥Z vz =68 NMN /eYels ewinf e
00‘'00L |9L gl 14 Z.2|2L €.7| NS Job1aquaieiy vSd
uassojyosabue JaUYDBISIYBNISA USp UB J00Z'6°01 wnz apinm ebejuy eig| e
9 =€.2 agjess Jebunqiaiy
00'00L |6S 65 z 43 =Z.9|6€ =€} /eges sebuy3| €€
9l gl 14 =ZZ|zL  =€.¢| oyeisieusseD vSd| Z€
ZL =E.F 002 pun 00€ @
00°00L |9€ (£00z" 20" L1 puniequiaispyl)| o€ vz =£.8pNS yoedsy /NS BWIN( LE
¥ =Tl ayeS-$SNaH-"YL
00'6E |l 00'se |9z |oF ZL =2.9 | ¥Z =€.8 g sebuiuwap | og
002 @
00€ @
9 =€.Z ussambalg 2140
€E'EE  |00'T) |L9'09 |¥2 g€e 0g =£.01 /PyeSs ewin
(€00Z ¥0'#0 pun £661 IsnBny 9| won Bunuequissep )| 62
¥ =z “lig-usygelT-sueH
L9°0e  [SL 6£'69 |¥E |6V L 02 =Z.:0L | VT =€.8 145 sebuwap | gz
agens Laygal]-sueH
1L0Z"L0°GL we negebae fegensuloy| Lg
00E @
L Tl =€.¥ “Jjsyoequalalyos
66'0Z |LL L0'6L |9 18 02 =201 | 8t =€.91 feyeiS 1eosplepm | 92
9 =g, | “ns-ebuysog-isuig
pL'Ig  [gL 98'z9 |22 ge L ¥ =22 | ¥C =58 ageng owin| gz
Z Tl
€ =€l agelsuljoy
00001 [0€  |0E Z g =Z.v | Sb =8 fageig Jeasplep| ¥e
L =Z.L+€ agensbuloy
Pr'vS  |6F 9s'ck [y |08 14 82 =Tubl | b =C+Eat| 8yeRIS JSISPIRM | €2
T =l
6 =€.€ 99jeIS J9aSPIEM
PE'0ZT |ZTL 65'SE  |LE2  |L0'%F |9  |6S I 8 =2,F | 6E =€.E} jes|iebiogqsbugy| zz
9 =€.2 agensulloy
'y | 8L'78  [8E &L 9 ¥2 =2.2L | 9€ =€.21 /o9||eb18qsE 1z
9 =¢,2
8 =Z.r |00t @ oslebiagsbiuoy
€Y LE  [zZ (/689 |8y |OL 7€ =2.9L | ¥Z =€.8 ageyg oBuWeN | 02
axlempels ajeubls
a3jelis Jsopusiig
000 898 |l gL'ee  |¥2 g€ 5 gl =2.8 | 12 =€l ageng sewin| 61
z oylemipels sjeubls
¥ =Z.C ‘11 Jasneyssbieg
0wz |2 oL'se |29 69 L 0Z =2.0L | 2F =C.bl sgeng swin| gt
€ ayampels sjeubls
¥ =¢+C agens ._mmc_EEwS_
Y |€ LL'8€ (¥ |s¥'es [sE |29 b ¥Z =2.ZL | 0E =€.0l ageng sswin| Lt
z ayemipe)s ajeubls
agels Jebinqaly
fegeasy
PLL |2 o0o'c |0 98'z6 (9T (8T L ¥ =Z.2 | 12 =E.L fegielg sswin| 9l
¥ ayJemipels ajeubis
T =%l
9 =€.2 Jo] Jswin
a'r ¥ LL'se  |oe Z5'6s [0S |¥8 € ¥Z =Z.2L | GF =€.5l Buosewsig| Gi
z ayiemipeIs sjeubls
T =l
9 =€,2 ageJisjoyuyeg
26t |2 80'06 |6F (IS z 2l =2,9 | lZ =t.6 Buijosewsig
pejemua aeubis 9 WN 9LOZ 60" L0 WNz epinm abeuy aid| +i
ageg-bunuid-jopy
jolleyoasebae ZL0g INf ¥es [Busioiewsig| €1
S ajsomipels ojeubls
£ =€l agelsisyoie|g
60'6 [ F4: A A FAY 60'69 |8  [SS S ZL =2.9 | 0€ =£.01 Bujoiewsig| g1
L aiampels sjeubls
9 =t.C agens Jabuiyg
9 |1 €E'8lL  |LL ge'sl (L1 (2919 [i€ |09 S 2L =2.9 | 9¢ =€.Z} Buiprewsig| |1
i aysampelg ajeubls
9 =2 ageJSpUEBIM
forAt N A cL'aL |0 59'08 [0S 29 z 9l =Z.8 | 9€ =t.C} Buosewsig| 01
8l Ll 9l Sl ¥l £l Zl Ll [ 6 8 L 9 G t Z 1 0
% [PEENG % |UBZUY % yezuy’ % |ezuy % lUezuy| % Jyezuy | yezuy  [jyezuy |yezuy |yezuy Bunuyoiazag
ERIEINET ussneyuepy PEIS SRy pue pung Tesab|  bynd
[ ENEGEERTEREY pPna| -aP9 -Jabuebynd -Bnazijed PUNdusiouy | IN

& abejuy

VST J3||B 819jurISpa)jyona 1op Bunpiuug




